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QUESTION 1

You created new users and added them to existing and new user lists. In the enterprise profile file, StopOnError =
TRUE. When you attempt to deploy (using Application Deployment Manager) you are getting errors. Which could be a
possible cause? 

A. You forgot to run a backup command. 

B. You forgot to generate a mid-level release in Siebel Tools. 

C. You sequenced User List before Users in the deployment. 

D. You sequenced Users before User List in the deployment. 

Correct Answer: C 

 

QUESTION 2

You have been asked to create a multi-value group for contacts phone numbers. What should your first step in this
configuration be? 

A. Create a new business component to store these phone numbers. 

B. Determine which column on the base table you can use to store these phone numbers. 

C. Determine which column on the one-to-many extension table you can use to store these phone numbers. 

D. Run the MVG Wizard in Siebel Tools, specify the business component, and have it automatically select the
appropriate column. 

E. Examine the existing application to determine whether there is already a multi-value group you could leverage to
store phone numbers. 

Correct Answer: E 

 

QUESTION 3

Which statement is true of Customer data? 

A. includes static, referential data 

B. has access controlled at the record level 

C. can be grouped into catalogs and categories 

D. is created and managed by only company administrators 

Correct Answer: B 
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QUESTION 4

Which Assignment Mode filters all qualified organizations and persons and then assigns only those that have
corresponding persons and organizations that meet the criteria? 

A. Independent 

B. Organization-oriented 

C. Person-oriented 

D. Org and person-oriented 

Correct Answer: D 

 

QUESTION 5

You created a new form applet. During your testing, one of the controls does not display any data. Which two could
cause this? (Choose two.) 

A. The control is not mapped to a web template item. 

B. The control is not mapped to a field on the business component. 

C. The Join property on the single value field that the control maps to is blank. 

D. There is no data in the database for the column to which the control maps. 

E. The RUNTIME value is set to FALSE on the picklist associated with the control. 

Correct Answer: BD 
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